“ RIVAL

POWERSPORTS

m RADIATOR RELOCATION KIT INSTALLATION MANUAL

EINBAUVORSCHRIFT FUR DIE AUSTRAGUNG DES KUHLERS

For: RM 800 (2016-2018)
RM 800 DUO (2019-)

444.7745.1

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU



A

q
4

©)

s
¢

>

©)

“ RIVAL

POWERSPORTS

EN Regular fasteners
DE Originale montageteile
RU LUTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LUTaTHbIN Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BkpyTunTb Ha HeCKonbko 060poToB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKOrbKO 060pOTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [swmxeHne

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU PacnonoxeHune

EN Screw Arrow
DE Drehungsrichtung
RU lNMoBopoTt



“ RIVAL

POWERSPORTS

EN Ratchet
DE Ratsche
RU TpewéTka

m

5 6 7 ~

TN i
v M \u
\\\ al S« Q @6mm; L=1m  x1
11 % 12 - 9 13 @ 16 @
@20mm; L=1.5m x1 [ @20mm x1 | 10-16 x4
17 R 18 (e 19 aQ 22
M6x16 x13 | M6x20 x8 | M6x35 x4 [ M8x20 x4 | 26 x36 | @6 x8
23 24 25

i“ i"

28 x8 | M6 x19 | M8 x4




POWERSPORTS




POWERSPORTS

“ RIVAL

£ PR
i - i -
&m e e S | Md/n
215 B, ITF1EN :
a =

17;21

_ e |t
( ! | 1 2
\l e @ g
VL et 1 o
! N © _ - e
T | <
I | “ 2 2
| " “ | ./ M ./ I1’
,\ <+ 9 ° +lla N
\ Nl L O[O ||~
\,, - >~® &l ]
| N e Na N
\ ' (o]




18;21

/ M/
4\\4, _ Q\ T
4001V /8lv/8 \\NF
_ Jdndnor 7

==

N A
— -9
10T o= |

[
= 3 m
D,

POWERSPORTS

<RIVAL

'
/] 3/ 1e1¥/al; JrSA
| \ X v\\ ; ]
| I |7

18;21

(A ] \
Bl @R i
| Ll I
I\ \ A \\\\\;
| | \ A
\ r I 2
[y

,,,\. \ N \/\\ \
Al 1818119,
L/ |C | <0
J 9 > [ RIS
\.\ 15 I € Q,N byl
Il 1% =Y [ AN \%c \ :
| Py <
I~ ] / - n\\ \

18;21

BIVIRY]
AUAUREAYN!
‘ ) D

0/al0als

u\. L ,%»&\i /
/
Gy

N

Y955
R0

iglylyl
f nyr ;t\
e

A0
M
1

1%
|
[
\

L: Q&M p
i
2[5 Q ﬁ .\ k _T Lﬁ\
iy
00
790%!

Jndgyy
@)°0"3”

5/
J

-
—

- —




“ RIVAL

POWERSPORTS

18;21

21;24

18;21

.‘é‘f&

M6=9,5 Nm




“ RIVAL
POWERSPORTS

11—,




“ RIVAL

POWERSPORTS

LEFT = RIGHT




“ RIVAL
POWERSPORTS

25

=
4

23

20;23

23;25

>

o

20;23




“ RIVAL
POWERSPORTS

9,5 Nm

o
M6=9,




“ RIVAL
POWERSPORTS

™
9,5 Nm

Y
M6=9,

17;21

17;21

ANTIFREEZE




L

POWERSPORTS

% RI\/

=24 Nm

5N
M8




“ RIVAL

POWERSPORTS

Attach temperature sensor connectors, fan connector and fan breather
connector.

SchlieBen Sie die Steckverbindungen des Temperatursensors, den Stecker des
Ventilators und des Entlifters an.

MoacoeanHUTb pa3beMbl AaTUMKa TEMMNEPATYPbI, Pa3beM BEHTUNSTOPA U
canyHa BEHTUIaTopa.

As branch pipes are movable when being higher than the luggage rack
platform due to adjustment of the relocation kit by inclination angle, please
prevent touching of branch pipes and the hood and the luggage rack platform
in order not to allow their abrasion.

Da die Stutzen iber dem Gepackraum wegen der Einstellung der Austragung
je nach dem Anstellungswinkel beweglich sind, missen sie mit der Haube und
dem Gepackraum nicht bertihren, um deren Scheuern zu vermeiden.

Tak Kak Bbllle 6ara)xkHon NAoLaaKn NaTpyobKn NOABUXKHBI U3-3a PEerysIMpoBKU
BbIHOCA MO Yy Hak/IoHa, HEO6X0AMMO UCKIIIOUNUTL KacaHue NaTpybKoB C
KarnoToM K 6ara)kHoM NnoLaaku, Bo ndexaHme nx nepeTmpanHms.

Install the radiator relocation kit in the highest lifted position, add antifreeze
liquid and bleed the system.

Stellen Sie die Austragung des Kiihlers in die hochstzulassige angehobene
Position ein, gieBen Sie Frostschutzmittel ein und entlliften Sie das System.

YCTaHOBUTb BbIHOC paanaTopa B MakCMMasibHO MOJHATOE MOSIOXKEHNE, 3a/IUTb
aHTUMbpPKU3, NPoKaYaTb CUCTEMY.




